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Take overs

Berle and Means (1932) Separation of ownership and control.

Firms are typically run by professional managers.

No shareholder owns more than a small fraction of equity. Due to
free-rider problems shareholders have little incentive to monitor
management.

Thus shareholders have no effective control over management.

Moral hazard problem. How to align shareholders and managers
interests
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Take overs

Takeovers: If a firm is inefficient a raider can buy up all the shares.

Hostile Takeover:

A Raider makes an offer to buy the target company.

This offer is opposed by the target management.

The raider makes a direct offer to purchase the shares from the equity
holders.

There is no longer a separation of ownership and control.

The raider can install a management team which acts his/her interest
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Recent takeovers

Disney took over part of Fox

Broadcomm is bidding for Qualcomm (hostile)

AT&T is attempting to takeover Time-Warner

Possible objections from the regulator. US Supreme Court agreed
recently.

Should foreign companies be allowed to take over domestic firms?
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Takeovers occur in waves

1890’s Monopoly.

1920’s Oligopoly.

1960’s Conglomerate takeovers.

1980’s Bust-up takeovers, junk-bond financing.

1990’s Horizontal, i.e. firms from the same industries.

Takeovers mainly occur in the English speaking countries.

Very rare in continental Europe and Japan.
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Why?

Restructuring particular industries:

1980’s Oil & Gas, Textile;

1990s, Media &Telecom, Banking and Metal mining.

Financial innovation:

the 1980’s takeovers were made possible by increased use of LBOs and
junk bonds.

Changes in regulation.

e.g. bank takeovers in the 1990’s arose from the removal of restrictions

on interstate/international mergers in the USA/EU.

Takeovers allowed the creation of interstate banking without causing
excess capacity.

Chakravarty (SKKU) Lecture 1- Introduction 06/18 6 / 1



Why?

Restructuring particular industries:

1980’s Oil & Gas, Textile;

1990s, Media &Telecom, Banking and Metal mining.

Financial innovation:

the 1980’s takeovers were made possible by increased use of LBOs and
junk bonds.

Changes in regulation.

e.g. bank takeovers in the 1990’s arose from the removal of restrictions

on interstate/international mergers in the USA/EU.

Takeovers allowed the creation of interstate banking without causing
excess capacity.

Chakravarty (SKKU) Lecture 1- Introduction 06/18 6 / 1



Why?

Restructuring particular industries:

1980’s Oil & Gas, Textile;

1990s, Media &Telecom, Banking and Metal mining.

Financial innovation:

the 1980’s takeovers were made possible by increased use of LBOs and
junk bonds.

Changes in regulation.

e.g. bank takeovers in the 1990’s arose from the removal of restrictions

on interstate/international mergers in the USA/EU.

Takeovers allowed the creation of interstate banking without causing
excess capacity.

Chakravarty (SKKU) Lecture 1- Introduction 06/18 6 / 1



Why?

Restructuring particular industries:

1980’s Oil & Gas, Textile;

1990s, Media &Telecom, Banking and Metal mining.

Financial innovation:

the 1980’s takeovers were made possible by increased use of LBOs and
junk bonds.

Changes in regulation.

e.g. bank takeovers in the 1990’s arose from the removal of restrictions

on interstate/international mergers in the USA/EU.

Takeovers allowed the creation of interstate banking without causing
excess capacity.

Chakravarty (SKKU) Lecture 1- Introduction 06/18 6 / 1



Why?

Restructuring particular industries:

1980’s Oil & Gas, Textile;

1990s, Media &Telecom, Banking and Metal mining.

Financial innovation:

the 1980’s takeovers were made possible by increased use of LBOs and
junk bonds.

Changes in regulation.

e.g. bank takeovers in the 1990’s arose from the removal of restrictions

on interstate/international mergers in the USA/EU.

Takeovers allowed the creation of interstate banking without causing
excess capacity.

Chakravarty (SKKU) Lecture 1- Introduction 06/18 6 / 1



Why?

Restructuring particular industries:

1980’s Oil & Gas, Textile;

1990s, Media &Telecom, Banking and Metal mining.

Financial innovation:

the 1980’s takeovers were made possible by increased use of LBOs and
junk bonds.

Changes in regulation.

e.g. bank takeovers in the 1990’s arose from the removal of restrictions

on interstate/international mergers in the USA/EU.

Takeovers allowed the creation of interstate banking without causing
excess capacity.

Chakravarty (SKKU) Lecture 1- Introduction 06/18 6 / 1



Why?

Restructuring particular industries:

1980’s Oil & Gas, Textile;

1990s, Media &Telecom, Banking and Metal mining.

Financial innovation:

the 1980’s takeovers were made possible by increased use of LBOs and
junk bonds.

Changes in regulation.

e.g. bank takeovers in the 1990’s arose from the removal of restrictions

on interstate/international mergers in the USA/EU.

Takeovers allowed the creation of interstate banking without causing
excess capacity.

Chakravarty (SKKU) Lecture 1- Introduction 06/18 6 / 1



Why?

Restructuring particular industries:

1980’s Oil & Gas, Textile;

1990s, Media &Telecom, Banking and Metal mining.

Financial innovation:

the 1980’s takeovers were made possible by increased use of LBOs and
junk bonds.

Changes in regulation.

e.g. bank takeovers in the 1990’s arose from the removal of restrictions

on interstate/international mergers in the USA/EU.

Takeovers allowed the creation of interstate banking without causing
excess capacity.

Chakravarty (SKKU) Lecture 1- Introduction 06/18 6 / 1



Why?

Restructuring particular industries:

1980’s Oil & Gas, Textile;

1990s, Media &Telecom, Banking and Metal mining.

Financial innovation:

the 1980’s takeovers were made possible by increased use of LBOs and
junk bonds.

Changes in regulation.

e.g. bank takeovers in the 1990’s arose from the removal of restrictions

on interstate/international mergers in the USA/EU.

Takeovers allowed the creation of interstate banking without causing
excess capacity.

Chakravarty (SKKU) Lecture 1- Introduction 06/18 6 / 1



Takeover Premia

In a takeover, shareholders in the target make gains of 30-50%.

In contrast the raider makes losses or barely breaks even.

Are raiders just irrationally optimistic?

Do they indeed run firms more profitably but competition between
potential raiders reduces profits to a normal level?
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Free Rider Problem -1

Economic analysis suggest that market distortions may prevent
takeovers.

Recall a public good is a good, which is consumed by all:

national defence;
TV or Radio broadcast.

The free rider problem.

If left to private provision, too few public goods will be produced.
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Free Riding Problem -2

Suppose a firm has inefficient management, as a result the share price
is too low.

Let p− denote the current share price.

A raider offers to buy the shares at price p > p−

If successful the raider will run the firm more efficiently raising the
share price to p+ > p−

Success of the takeover is a public good for shareholders.
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Takeovers not be successful in rational expectation
equilibrium

If p+ > p a small shareholder is better off not selling.

Their decision whether or not to accept will have negligible effect on
the overall chances of success for the bid.

They will receive p+ by holding onto their shares and waiting for the
raider to improve the firm.

The only offer which can succeed is p = p+, but this is not profitable
for the raider if there is a fixed cost f for the takeover.

If shareholders expect the bid to succeed they will not tender their
shares.
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One solution - Toehold

If the raider initially owns some shares in the target, then (s)he will
profit from the increase in value of his/her own shares.

Limited by disclosure laws.

SEC rules say a raider must disclose with 10 days of acquiring 5%;

On average the raider owns 13.9% of the company at this point.

UK law says an offer must be made when 29.9% of the target is
acquired, the price cannot be less than the highest price in the
previous 3 months.
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Another solution

Compulsory purchase of minority shares;

UK company law allows a raider who has 90% of the shares to
compulsorily purchase the remaining shares at the same price.

Exploitation of minority shareholders.

UK company law gives little protection.
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Exploitation of minority share-holders

Assume that the raider can transfer $γ per share from the minority
shareholders to himself/herself.

For instance by selling some of the firm’s output or assets to a
company wholly owned by the raider.

Now by not selling to the raider a minority shareholder will receive

p+ − γ

They will sell if
p > p+ − γ
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The raider’s profit =
n
(
p+ − p

)
− f

where n = number of shares; f = transactions cost of the acquisition.

The takeover is profitable if:

p+ − f

n
> p

Hence for a bid to be accepted and profitable if p+ − f
n > p > p+ − γ

Or γ > f
n
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Two tier bids

The raider offers to pay p1 for the first k% of shares and p2 < p1 for
the remaining shares.

The incentive to free ride is greatly reduced.

A shareholder who refuses to tender risks receiving the lower price.

Two tier bids are common in the USA but are illegal in the UK.
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Free cash flow theory

Jensen, M. (1986): Takeovers: Their Causes and Consequences,
American Economic Review, Papers and Proceedings 76, 323-329.

Takeover of RJR-Nabisco by Kohlberg, Kravis Roberts (KKR).

Tobacco was highly profitable but clearly a declining industry.

Management used funds for excessive perks.

Investing in pet projects unlikely to be profitable.
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Free cash flow theory

Definition: Free cash flow is cash flow in excess of that required to
fund all of a firm’s projects which have positive net present value.

Managers may be tempted to use free cash flow for other purposes
e.g. excessive perks, unprofitable expansion or pet projects.

It is better to return free cash flow to shareholders and let them
decide where to invest it.
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Free cash flow theory

Target has free cash flow which is not being used efficiently.

The raider issues debt to buy the target firm’s equity.

Cash is paid out to the initial shareholders.

Debt commits the firm to pay out free cash flow since debtholders
can declare bankruptcy in the event of default.

The post-takeover firm has higher leverage and hence better
incentives for management.

The firm will have to borrow to finance new projects;

High debt may weaken organisational opposition to change.
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OIL Industry

In the late 1970’s the world market price of oil was high. The industry
had high profits but low demand.

Hence there was substantial free cash flow.

Management continued high exploration and development
expenditures.

Also firms diversified into other industries such as retailing, office
equipment mining and manufacturing.

In 1980’s takeover wave, many of the targets were in the oil industry.

As a result free cash flow was paid out to shareholders, expenditure
on refining and exploration was cut.
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Hubris Hypothesis

If there are multiple bidders a takeover is like an auction.

Common value auction

The object has the same value £ X to all bidders.

At the time of the auction the bidders do not know X. However they
have an estimate of X.

Auction rules. The bidders submit sealed bids to the auctioneer.

The auctioneer sells the object to the highest bidder at a price equal
to his/her bid.
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Common Value Auction

There are 21 bidders for an object (e.g. mineral rights).

The object will have value X to the successful bidder.

At the time of the auction none of the bidders know the true value X.

They do have estimates of the true value.

Specifically there are 21 estimates which take values,
X − 10,X − 9, . . . ,X − 1,X ,X + 1, . . . ,X + 10.

These estimates are randomly distributed among the bidders.

The object will be sold to the highest bidder at a price equal to the
bid. i.e. this is a first price sealed bid auction.

Bids must be integers (whole numbers).
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Your estimate is 63. How much do you bid?

A 73 B 72, C 65, D 63; E 62, F 61 G 55; H 52

Let Ei =estimate of bidder i.

Bi = bid of bidder i.

You are only interested in what happens if you win the auction.

If i wins the auction Ei = X + 10.

Hence X = Ei − 10.
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THE WINNER’S CURSE

The equilibrium bid is Ei − 11, which corrects for the winner’s curse
and allows a small margin for profit.

At what price will the object be sold?

The object will be sold at price X − 1.

This illustrates how the market can aggregate information
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Hubris Hypothesis

The raider appraises the value of the target.

If the raider’s valuation of the target exceeds the current market value
the raider makes a bid.

Those valuations which are greater than the market value on average
overestimate the value of the firm.

The winneŕıs curse.

The raider fails to correct for this. (Hubris) He/she pays too much for
the target.

Chakravarty (SKKU) Lecture 1- Introduction 06/18 24 / 1



Hubris Hypothesis

The raider appraises the value of the target.

If the raider’s valuation of the target exceeds the current market value
the raider makes a bid.

Those valuations which are greater than the market value on average
overestimate the value of the firm.

The winneŕıs curse.
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Take Over Defences

In the USA hostile takeovers have become much less common since
1990.

One of the main reasons is many firms have takeover defences.

Also many states have passed laws restricting takeovers.
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Common Takeover Defences

Litigation by Target Management,

securities fraud, violations of tender offer regulations.

Greenmail,

The company repurchases the raider’s shares at a premium price.

Poison Pills,

In event of a tender offer target shareholders have the right to purchase
additional shares or sell shares to the company at a very attractive price

Super-majority amendments.

Increases the majority required for a change of board.

Golden Parachutes.

Pay large sums of cash to senior management in the event of a
successful takeover.

Implementing the raider’s policies, e.g. Increasing the debt-equity
ratio.
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